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General Instructions :

(i)  This question paper contains two parts A and B.
(ii) Part A is compulsory for all.

(iii)

Part B has two options — Option — I Analysis of Financial Statements and Option — Il
Computerized Accounting.

(iv) Attempt only one option of Part B.
(v) All parts of a question should be attempted at one place.
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Qug - h
PART - A

(AT GHT T4T HHfEt & g i)

(Accounting for Partnership Firms and Companies)

T WIESRT TH T 37T dUT-es 3Ted BIdT € 2 3109 3T % AT H SHRT ST |

Does partnership firm has a separate legal entity ? Give reason in support of your

answer.

% T G UH BH & TR o T o981 4 : 3 & 30 § dfed & | % T &l Th 721
SRR ST | &, @ qAT T o Heg 7 o ST 3:2:2 o7 | % = 370 90T & L 9 T &
e § T {30 | @ o 1T i OMT HifT |

A and B were partners in a firm sharing profits and losses in the ratio of 4 : 3. They
admitted C as a new partner. The new profit sharing ratio between A, B and C was

3:2:2. A surrendered Y of his share in favour of C. Calculate B’s Sacrifice.

Ot qT Y Teh FH o QIR & TAT A e sted o | S0 T §oi A 1,00,000 T2
T 50,000 o | TR Foi@ § U W 10% SMGw ST 6 W@ o1 | 31 6, 2016
U U Y o TIT Ysit IR SATST @I {1 T o G 3T SIeaRT oY T 77T |

3T Ffe & M & TS THESH Ufafe BT |

P and Q were partners in a firm sharing profits equally. Their fixed capitals were
% 1,00,000 and X 50,000 respectively. The partnership deed provided for interest on
capital at the rate of 10% per annum. For the year ended 31* march, 2016 the profits of
the firm were distributed without providing interest on Capital.

Pass necessary adjustment entry to rectify the error.
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4. g fatmes 3 T 100 v@% & 1000, 9% FOTTE 6% & § W AT A & U 3mesT
MR fFT 11,200 TR & foTT STERT U gU | Wl SYeRe i SFHIaE SMER W

TeeT Y a1 T |

ITE AHA gU 6 AR ART 1 P AR & G HEAT o, RO & A % o
SMETIH WSTHEET Ufafeeat HieT | 1

X Ltd. invited applications for issuing 1000, 9% debentures of I 100 each at a discount
of 6%. Applications for 1,200 debentures were received. Pro-rata allotment was made to

all the applicants.

Pass necessary Journal Entries for the issue of debentures assuming that the whole

amount was payable with applications.

5. @ famee 3 3 10 U9E % 100 9T 3790 61 T 2 Ui 379 6l uAT AT ART BT T
T TR g1 Y forar | T 2 id 39T i | e o [ ST o |

T DT ATIRHAT T Bl TUMT BT T 0 37 3791 1 G 770 fohar ST Fevel 7 | 1

Y Ltd. forfeited 100 equity shares of ¥ 10 each for the non-payment of first call of ¥ 2

per share. The final call of X 2 per share was yet to be made.

Calculate the maximum amount of discount at which these shares can be

re-issued.

6. T qAT I Tk HH F TEER I | F BH T I 3T I Rl TS AT ARt & | AT 6
AAfaRer =afoaat s T feeet 3 Aforar ot gt AT 78 277 g7 § werer =@ fear s

Hehdl | 1

Gupta and Sharma were partners in a firm. They wanted to admit two more members in
the firm. List the categories of individuals other than minors who cannot be admitted by

them.
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S Ol fafies 7 21m T 100 UGF % 200, 8% RO i, 9= 6% % 93 W a5
T o, T 10 T3 o TEaT 319 W UReidd AT | U 37 1 T 25% o 3tfueT 9
TR TR | 8% HOTTST o FTHT OX &2 SRl 37t Ok STUTeinad el fohar T Y |

ST HIEHRT O Sl TALAT | T §E 8% FOTHT o FHAT M H URaH W eI
TS Aiaftedt S |

Jain Motors Ltd. converted its 200, 8% debentures of ¥ 100 each issued at a discount of
6% into equity shares of ¥ 10 each, issued at a premium of 25%. Discount on issue of

8% debentures has not yet been written off.

Showing your working notes clearly pass necessary Journal Entries on conversion of

8% debentures into equity shares.

3T, T, Higs 1 Te U H o WeRR & @21 2 : 2 : 2 : 1 % 30 § @ dfed o |
31 ST, 2017 hl Hig 7 EHET YT X [Tl | WE o TEeheT UgUT i T &H hi BT

& Tedie % 70,000 T T | SR, U9 U HEA % WA 5 1 : 1 % AT o A H
for feram T |

YT FHRIHRY feoauit S T I U Ae o TR TeUT A W BN & ohaioh &
o0 & il GEAehl | 39T ST Ufafte i |

Amar, Ram, Mohan and Sohan were partners in a firm sharing profits in the ratio of
2:2:2:1.0n31%]J anuary, 2017 Sohan retired. On Sohan’s retirement the goodwill of
the firm was valued at ¥ 70,000. The new profit sharing ratio between Amar, Ram and

Mohan was agreedas 5: 1: 1.

Showing your working notes clearly, pass necessary Journal Entry for the

treatment of goodwill in the books of the firm on Sohan’s retirement.



9. g faMmes 7 & fafmds ¥ ol &1 7 T | o fofiee 3 & fofee =t fe v o
HIdr oo
(i) T 10 v & 5,000 FHAT 3790 BT 30% F AT W FHIHT B |
(ii) T 100 T=H % 1000, 8% FOT Bl 10% % g W FfHT ek |
(iii) ¥ T 48,000 T 3T AIE I 37 Teh IS I |
Sz el # R W 3 A e F T A A A e
Tfafeat i | 3
Z Ltd. purchased machinery from K Ltd. Z Ltd. paid K Ltd as follows :
(i) By issuing 5,000 equity shares of X 10 each at a premium of 30%.
(i) By issuing 1000, 8% Debentures of ¥ 100 each at a discount of 10%.

(iii) Balance by giving a promissory note of I 48,000 payable after two months.

Pass necessary journal entries for the purchase of machinery and payment to K Ltd. in

the books of Z L.td.

10. e fafee T 10 vcdsh o @oar SEn | foed 3 8,00,00,000 Ht 3Afdd st o @rer
USTighd € | HEOT bt AT q&T U7 ue GST T 4,00,00,000 ot | TR TagEht B ISR
TR A & TAT ST FHYHR I o ATHI0T &7 o b & feld et = ST 57t & ue
WTer gREIe Sh1e s TAT i 07 forar | St o ofer, SR @ 49 | Sivret g
a1 T TATGAT 1 ot T foqa | S7uet el ot STearwarshanati ol IR e o felT e
% 10 7% % 1,00,000 THAT =0 7= T 100 W& & 10,000, 9% FoT=i % T 1 o
foram | oTas 1 e e g o gvETd AT AT | THAT ST a9 A 6 T gy §
MR & T | 1000 ST T U SRS T 2 Ul 3197 il SAfTq FreT M7 61 I B
H SR @ |

T SR, 2013 g 11 & WEEFT o STAR BT o (i foeror § sier gei
W TR HINTT | T foreel <1 geat bt Tear ot ifSe 5778 et s s =t § | 3
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Akash Ltd. is registered with an authorized Capital of X 8,00,00,000 divided into equity
shares of ¥ 10 each. Subscribed and fully paid up share capital of the company was
T 4,00,00,000. For providing employment to the local youth and for the development of
the rural areas of the Jammu and Kashmir State the company decided to set up a food
processing unit in Anantnag district. The Company also decided to open skill
development centres in Ladakh, Srinagar and Punch. To meet its new financial
requirements the company decided to issue 1,00,000 equity shares of I 10 each and
10,000, 9% debentures of I 100 each. The debentures were redeemable after five years.
The issue of equity shares and debentures was fully subscribed. A shareholder holding
1,000 shares failed to pay the final call of X 2 per share.

Present the share capital in the Balance Sheet of the company as per the provisions
of Schedule III of the Companies Act, 2013. Also, identify any two values that the

company wishes to propagate.

A TAT THT U HH & WIIR  TAT 12 2 & ST H A died & | 3! TR IS 6w
% 2,00,000 T % 3,00,000 &f | 1 3T, 2016 I TR N &9 &% 1/4 907 % ¢ T a1
TEIER @1 T | fReIT 7t Oeit 3 feTd ¥ 2,00,000 R ™9 S @ S%07 o it ol
TE T T@T ST o7 | fheiT 3 I ol 37T ST 60T & W fofT |

TSheTIT & TeeT WX W Sl A1t <l TUMHT SHISTT T e, T80T TS FReR o 13 T 37T bl
UM HIST | TR & a9 W ST o oHGieh & [T 3Tegeh AT Uiaie off it
Tg A gU 1o foheii Tt S1feremmss 1 37O 91T 718 =&l o |

Karan and Varun were partners in a firm sharing profits and losses in the ratio of

1 : 2. Their fixed capitals were ¥ 2,00,000 and ¥ 3,00,000 respectively. On 1" April,

1
2016 Kishore was admitted as a new partner for Zth share in the profits. Kishore brought

% 2,00,000 for his capital which was to be kept fixed like the capitals of Karan and
Varun. Kishore acquired his share of profit from Varun.

Calculate goodwill of the firm on Kishore’s admission and the new profit sharing ratio
of Karan, Varun and Kishore. Also, pass necessary Journal Entry for the treatment of
Goodwill on Kishore’s admission considering that Kishore did not bring his share of

goodwill premium in Cash.



12. &, HE qAT ST Ush FH o HIERR 4 qA1 2 : 2 : 1 & ST | o ated o | H 370
TS Ufd 99 31 W & 9% Bl § | 30 TR, 2016 P U H @ & T | WEERT
Torg T Wa o i et TEiRR 9o W S8 e i e 37 8

(1) 3%k ISt @I & 9 T Gsht W 12% e &t | 1-4-2016 S 5T % Ysit @t
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9 T 1,00,000 9T |

(2) TG H T H FH & A | TR 90, T geaie et ad & fashg T Ig @ &
T W T STET ST 6 25% ot 1 30 faawer, 2016 T ®H =1 fospa T 9,00,000 &7 |

(3) WH I @A | SHT 9T | TEIT T G W HH R BAM 1 e < 1,50,000 T

RIEI

TERR! Toig | I8 Hf Mag o1 6 G EER & 57 AT § § F= 0 et b S

(1) TG & a9 | 3THT M | 30 G, 2016 T HIT T 30T T 4,000 o7 |

(2) 3R W 6% &Nt s fSTEe! 0T T 120 i T2 |

T & fToAEe o TR A & T W % oREdTet J HET 6 @I GAR fRar W] Steal §
3T T 3TV DI G | B & IEUTeT FRT AAR ThAT T4 WL Ry St @t A v fohar

T E :
Dr. HET T S G Cr.
fafer faazor T fafer faawor T
3 3
2016 2016

=30 | ... 4,000[3W 1| 1,00,000
............... - |30 | 6,000
............... - oo | 90,000
............... 40,000
............... 20,000
2,56,000 2,56,000

R N g

7

[P.T.O.



67/1/1

Sandeep, Mandeep and Amandeep were partners in a firm sharing profits in the ratio of
2 : 2 : 1. The firm closes its books on 31% March every year. On 30" September, 2016
Mandeep died. The partnership deed provided that on the death of a partner his

executors will be entitled to the following :

(1) Balance in his capital account and interest @ 12% p.a. on capital. On 1-4-2016 the
balance in Mandeep’s Capital Account was 3 1,00,000.

(2) His share in the profits of the firm in the year of his death which will be calculated
on the basis of rate of net profit on sales of the previous year which was 25%. The

sales of the firm till 30" September, 2016 were < 9,00,000.

(3) His share in the goodwill of the firm. The goodwill of the firm on Mandeep’s
death was valued at ¥ 1,50,000.

The partnership deed also provided that the following deductions will be made from the

amount payable to the executor of the deceased partner :

(1) His drawings in the year of his death. Mandeep’s drawings till 30" September,
2016 were < 4,000.

(2) Interest on drawings @ 6% per annum which was calculated as ¥ 120.

The accountant of the firm prepared Mandeep’s Capital Account to be presented to the

executor of Mandeep but in a hurry he left it incomplete. Madeep’s capital Account

prepared by Accountant of the firm is shown below :

Dr. Mandeep’s Capital Account Cr.

Date Particulars | Amount | Date Particulars | Amount
4 4
2016 2016

Sep.30 | i 4,000|April 1 | ...l 1,00,000
R - Sep.30 | ..eiiiiinnnl. 6,000
e - L T 90,000
A 40,000
A 20,000
2,56,000 2,56,000

You are required to complete Mandeep’s Capital Account.

8



13.

67/1/1

TH, 3, J AT N UH BH TGRS qAT4 :3: 21 1 % 30 | o sted & | 1-4-2016 Ff

3o Ferfa foeror T U 9 o -

1-4-2016 1 T8, &, 7, dt 1 feafa faawo

TS T R 4,40,000
ere) 2,00,000 1o} T 2,00,000
il 1,50,000
g 1,00,000
ar 50,000 | 5,00,000
fafir= I=_R 80,000
TR ey T 60,000
6,40,000 6,40,000

IR Tt & R = 9oy § @ 32 112 : 4% 3 | afed 1 o 6T | 39 2w
% T T St =1 o1 Jedise € 90,000 foham T | Wikl A = o ar | ot for foran
(i) IR &fayfd 1o T A T 70,000 THIET 4T |

(i) WTERRT % Te] Wi WeThT 73 o S § HEERI 6l Ysi T TR |
YHGATR W, ISR o STt @I 7T Tiied wH ol it foeror dam st |

S, T, U and V were partners in a firm sharing profits in the ratio of 4 : 3 : 2 : 1.
On 1-4-2016 their Balance Sheet was as follows :

Balance Sheet of S, T, U and V as on 1-4-2016

Liabilities Am;)unt Assets Am;)unt
Capitals : Fixed Assets 4,40,000
S 2,00,000 Current Assets 2,00,000
T 1,50,000
U 1,00,000
\Y 50,000 5,00,000
Sundry Creditors 80,000
Workmen
Compensation Reserve 60,000
6,40,000 6,40,000

From the above date partners decided to share the future profits in 3 : 1 : 2 : 4 ratio.
For this purpose the goodwill of the firm was valued at I 90,000. The partners also

agreed for the following :

(i) The claim for workmen compensation has been estimated at ¥ 70,000.

(i) To adjust the capitals of the partners according to new profit sharing ratio by
opening partners current accounts.

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of the

reconstituted firm.

[P.T.O.
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1-4-2015 &t &3, famee 7 T 500 T&F & 500, 9% FOTIAT T 9T 4% o 95 T fwar |
FOTOEAT T AM U F UYE 5% o SAEGTT W OINET FAT & | KO HEA q=r
31-3-2016 & AT §T a9 & foT 010 0 o oy &7 ot wfaftedt 98 WHd gu
FHItTT fof =TT 30 FAAwR qAT 31 A T 37 € TAT A W A FBrdl 3 10% & | FEAm
T Tk ATy 31 T i &= AT § |

On 1-4-2015 K.K. Ltd. issued 500, 9% Debentures of ¥ 500 each at a discount of 4%,
redeemable at a premium of 5% after three years.

Pass necessary Journal Entries for the issue of debentures and debenture interest for
the year ended 31-3-2016 assuming that interest is payable on 30™ September and
31% March and the rate of tax deducted at source is 10%. The company closes its
books on 31* March every year.

T AERRT B & foue & a0 FT sTaensti | avdsh AT Hiareat Hife ;

(i) UF WERR, UA, H fqged uishar o @ & o Hge e T e foe 39
% 10,000 I fam T |

(i) WERR, TH A T 8,000 foEe =g 1 P fHT |

(iii) fomeT == T 5,000 & |

(iv) TERR, W, S foee ufhar st @@ & e g fear mar S fore 38 3 7,000
AT 3T A1 | Y. foaed =9 98 SR & T Wend ganl | St fages =@ T 4,000
& | TSTeRT SpTaT Ot 5T TR T4 |

(v) UF OERR, T, Hi [g6eT w1 o s@v@ & o e fwa 7 g fow 38 9,000
H AAT T AT | TF e AT B Ted A W TeHd g3 | o foue =g
% 4,000 T TTAE ®F FRT FHAT T |

(vi) T WERR, ¥, I GgeT uikan o @@ & fou e & mr | sod o @
% 18,000 AT 3T a1 | | 7 T 18,000 % Wik ! A % €I H - HI Tehrd T |
T2k i Uect & Sgetl Wi § TIFIRd e 52T 747 o7 |

Pass necessary Journal Entries on the dissolution of a partnership firm in the following

cases :

(i) L, apartner, was appointed to look after the dissolution process for which he was
given a remuneration of ¥ 10,000.

(i) Dissolution expenses T 8,000 were paid by the partner, M.

(iii) Dissolution expenses were < 5,000.

(iv) P, a partner, was appointed to look after the process of dissolution for which he
was allowed a remuneration of I 7,000. P agreed to bear the dissolution
expenses. Actual dissolution expenses < 4,000 were paid by P.

(v) N, a partner, was appointed to look after the process of dissolution for which he
was allowed a remuneration of ¥ 9,000. N agreed to bear the dissolution
expenses. Actual dissolution expenses < 4,000 were paid by the firm.

(vi) Q a partner was appointed to look after the process of dissolution for which he
was allowed a remuneration of ¥ 18,000. Q agreed to take over stock worth
¥ 18,000 as his remuneration. The stock had already been transferred to
Realisation Account.

10



16. =T qAT 3R UH &H & WK § qA1 3 : 2 % 3 | o dfed & | 31 A, 2016 i SAH
Tt faaror = U 3 o
31-3-2016 T TG TAT AW H AT fawor
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fafir= o e 20,000 | THE 12,000
o O & ToTw e 2,000 | IR’ 18,000
& aad 3,000 | =® 20,000
= g9 5,000 | FHTER 40,000
IS AR T AR 40,000
T 60,000
AR 40,000 | 1,00,000
1,30,000 1,30,000

Ioier fater o1, T 91t o |10 9. Bl T & 1/6 9T o TeAT Ueh a7 | S 747

() E 7o ST % fetw % 30,000 T T WIS % 319 9T % faw 10,000 @RAT,

TSIt 31741 9T Saog AT TR G 3TRI0T Y fordl ST |

(i) ¥ 1,500 % AR Tl T FOM & €I H fciiad T a1 SR q27 SAERT ) qisry
TS g FON % T 5% 1 TEe {ohar S |

(iii)
(iv)

3T AT T A Y {2 ST |
WIH W 10%, T W T 500 T e q°0 T W 8% Tod g9 ol ST |

(v) Tt foeror § =&t g9 T ¥ 2,500 % e o o femar SR |

(vi) 2,100 T U -8R, ST oiat qeashi § el fohar T €, 1 ot oA S |
HH I A | G, 3 TET T ST a1 o 1T Teredeh I Hfaftedt Hifsw |

CE]

TH, TF T ST U % & QERR 4 q47 5 ¢ 3 ;2 3 U § @ sted o | 31 7€, 2016 H

3o Fea foreror e U 9 o -

31-3-2016 1 TH.TA. T4T St 1 feufa faawor

[GErS 55,000 | T 40,000

= G2 30,000 | T_R 45,000
PEIREIGE raliciic) 5,000 | 40,000
w 1,50,000 i 50,000
) 1,25,000 TR 1,50,000
Sl 75.000 | 3,50,000 | TeHE 30,000
o 1,00,000
AY-BI @ 25,000
4,35,000 4,35,000

11
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SURIeRT T bl TH = STFHIST Uo7 fehalm e e o) e &3

(@)
(i)
(iii)

(iv)
)

% 2,000 % IERT T gad RO & ¥ A 7ufeifad fomar S qer SRt W ey qen
T FOT o foTd W™ i 5% TR T@1 S |

TS S UIT: TG foham STRTT o Wi, Tl Uel Yo W 5% Heagid e
|

Z 10,000 T Ush SR, ST i@ & fohaT 7T &, B ol foham ST |
TF 7 ST T § A 2 : 3 % 39 § St |
TH & 3TEHTET FEUT A U H & BAG T Jedis  3,00,000 foam mar |

TH % 3THIY TEUT A T SIS Ao o o0 FH i Teshl H SNavash A= Hfafteat
T |

W and R are partners in a firm sharing profits in the ratio of 3 : 2. Their Balance Sheet
as on 31 March, 2016 was as follows :

Balance Sheet of W and R as on 31-3-2016

Liabilities Amount Assets Amount
4 4
Sundry Creditors 20,000 | Cash 12,000
Provision for Bad Debts 2,000 | Debtors 18,000
Outstanding Salary 3,000 | Stock 20,000
General Reserve 5,000 | Furniture 40,000
Capitals : Plant & Machinery 40,000
w 60,000
R 40,000 | 1,00,000
1,30,000 1,30,000

I th
On the above date C was admitted for gt share in the profits on the following terms :

)
(i)

(111)
@iv)

)

(vi)

67/1/1

C will bring ¥ 30,000 as his capital and ¥ 10,000 for his share of goodwill
premium, half of which will be withdrawn by W and R.

Debtors ¥ 1,500 will be written off as bad debts and a provision of 5% will be
created for bad and doubtful debts.

Outstanding salary will be paid off.

Stock will be depreciated by 10%, furniture by I 500 and Plant and Machinery
by 8%.

Investments ¥ 2,500 not mentioned in the balance sheet were to be taken into
account.

A creditor of ¥ 2,100 not recorded in the books was to be taken into account.

Pass necessary Journal Entries for the above transactions in the books of the firm
on C’s admission.

OR
12
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M, N and G were partners in a firm sharing profits and losses in the ratio of 5:3:2. On
31-3-2016 their Balance Sheet was as under :
Balance Sheet of M, N and G as on 31-3-2016

Liabilities Amount Assets Amount
4 4

Creditors 55,000 | Cash 40,000
General Reserve 30,000 | Debtors 45,000

Capitals : Less Provision _ 5,000 40,000

M 1,50,000 Stock 50,000

N 1,25,000 Machinery 1,50,000

G 75.000 | 3,50,000 | Patents 30,000

Building 1,00,000

Profit & Loss A/c 25,000

4,35,000 4,35,000

M retired on the above date and it was agreed that :

(i) Debtors of ¥ 2,000 will be written off as bad debts and a provision of 5% on
debtors for bad and doubtful debts will be maintained.

(i) Patents will be completely written off and stock, machinery and building will be
depreciated by 5%.

(iii) An unrecorded creditor of 10,000 will be taken into account.

(iv) N and G will share the future profits in the ratio of 2 : 3.

(v)  Goodwill of the firm on M’s retirement was valued at ¥ 3,00,000.

Pass necessary Journal Entries for the above transactions in the books of the firm on

M’s retirement.

T, fafies 9 ¥ 10 98 % 1,00,000 FHAT 3791 i % 6 Ui 3797 o Afemy ¥
FHH & TeTT 3MMagA Wt o2 | T &1 e 97 WehR | T o

e W T 4 vt 319 (T 2 3fuemy Jiead)

3MEeT T T 5 ufa 3797 (3 2 3tfeete |iead)

| e W T 4 Ui 3797 (3 2 3TfueT Jied)

TE AT 3w AT W — I T
WW:@&W@WI
400 3731 % TS 9N, PAR, F 3Tee JMRT FH JFIAF el AT T 1000 32 % T €N,
e, 7 e TR > [T TR SR 1 I F & | e F R Ivad FAR 6
37T ST &X0T Y ToTaT AT 3Weh IRt SoH FTeT AT /Il 718 | 300 371 % Ueh e, T, =
T AT AR ST STA el {oham T 600 379N o Ueh €’ TITet, = Were AT T o |1
TE e AR A A A FY AT | T Fran AR Wi & G g T o 39 6
TOT Y T3 T | T U SEdt qT SfH AT AR /A TS | GERE ATEA AT WS
Tt f¥T o7 & T |
07 o2t 13 |l 379 Wt T 9 Uit 31T qut ve U Fitee Y T
SIS AT % TeTT FHHAT i qRAhT | STE9TE ASHHET Frafeear i |

rerar
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TRL.TA. ftes 4 3 10 9% & 1,00,000 9T S0 H AT W HHd & & fow
3TATH STHE TR | T 1 A T TR & BT o

TeE WY T 3 Ul 379r
eeT W T 4 Ui 3197
TIH T 31" AT T T 3 ufd 3797 |

e & AT et e g9 | 20% 37eN % STeRAl T T XG4T AT qAT AR T
ST T 3 TS | AT STTEEehl ol H ThR & e foham T ¢

qEn
I 1,60,000 80,000
II 80,000 20,000

3T I U AT ST BT U 3Tee qer TIH Ug {9 Jre-T W 37 [T § 6T
o T | ol e WA O TE qT W @ S, Sl [ % Uk SRR i g o 320
379Tr o feTT ST Toha o | STk 3790 ol &X07 Y ToTam T | @207 fohd T 3791 Bt 3 15 Wi
31T U7 W& OA; THITHe e foam 1 |

S ool & folt T uer. fafiee @l el § oTevas JsHmT Uiaredr S |
SMEAVIFHATIR 37T ITeT AT AT ST A1 Wl GHery |

AXN Ltd. invited applications for issuing 1,00,000 equity shares of I 10 each at a
premium of ¥ 6 per share. The amount was payable as follows :

On Application ¥ 4 per share (including X 2 premium).
On Allotment X 5 per share (including X 2 premium).
On First Call X 4 per share (including T 2 premium).
On Second and Final Call — Balance Amount.

The issue was fully subscribed.

Kumar the holder of 400 shares did not pay the allotment money and Ravi the
holder of 1,000 shares paid his entire share money alongwith allotment money.
Kumar’s shares were forfeited immediately after allotment. Afterwards first call was
made. Gupta a holder of 300 shares failed to pay the first call money and Gopal a
holder of 600 shares paid the second call money also alongwith first call. Gupta’s
shares were forfeited immediately after the first call. Second and final call was made
afterwards. The whole amount due on second call was received.

All the forfeited shares were re-issued at I 9 per share fully paid up.
Pass necessary Journal Entries for the above transactions in the books of the company.
OR
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XL Ltd. invited applications for issuing 1,00,000 equity shares of I 10 each at par. The
amount was payable as follows :

On Application X 3 per share.

On Allotment % 4 per share.

On First and Final Call ¥ 3 per share.
The issue was over-subscribed by three times. Applications for 20% shares were
rejected and the money refunded. Allotment was made to the remaining applicants as

follows :
Category No. of Shares Applied No. of Shares Allotted
I 1,60,000 80,000

II 80,000 20,000

Excess money received with applications was adjusted towards sums due on
allotment and first and final call. All calls were made and were duly received except
the final call by a shareholder belonging to Category I who has applied for 320 shares.
His shares were forfeited. The forfeited shares were re-issued at I 15 per share fully

paid up.

Pass necessary Journal entries for the above transactions in the book of XL Ltd. open

calls in-arrears and calls in advance account whenever required.
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Tus -
PART -B
fawea - 1
Option - I

(i feraont ot fersereom)

(Analysis of Financial Statements)

18. g UaTE foarur AR XA qHT TTg-37ary e’ ot &3 | = W@n S | /2

Short term investments are not considered while preparing cash flow statement. Why ?

19. HE TA AHE qod Hl BISH IF FHANCT TSl § Fiadt Taer ararear & Ihg FaTg h
T, TR STET THH s URE Tel e | 3T I o T H HROT AT |

Net increase in working capital other than cash and cash equivalents will increase,
decrease or not change cash flow from operating activities. Give reason in support of

your answer.

20. ‘foriia fereron o fageiuor o STLE! i Seoig HIT |

State the objectives of ‘Analysis of Financial Statements’.

21. TH FHEA! H oAl AT 0.8 : 1 & | FRUT Wled IRy o Fefarad el 9 alerd

AT S, BT 37T SH hIE URa el &

(1) T2,000 % G&T SR 61 67 |

(2) ¥ 500 YEET AT W e |

(3) 3,000 % A T SUR foshT |

(4) 5,000 % T <7 foeT T Tqh TRIS B T A |
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The Quick ratio of a company is 0.8 : 1. State with reason whether the following

transactions will increase, decrease or not change the quick ratio :
(1)  Purchase of loose tools I 2,000.

(2) Insurance premium paid in advance I 500.

(3) Sale of goods on credit ¥ 3,000.

(4) Honoured a bills payable ¥ 5,000 on maturity.

22, foriE fOeRUT UHET ORATHA STEHUROTS, [SET, WhhEet @er fofues wieRer e
A e FAAT BId &, Fl &1 § TG AR 6T S & | 3 foawor vt g 6t &
B & ST SR W U ST i eryer ue o fefd & foug o fepd et s geed
€ T 37 SUANTRAT 3¢ ST ¥ THeT Teh qAT SR SUANT YU 3Taeh Foiat | a7y
T H TH |
ST FUF ¥ UY el g1 ool &l Ued HitoT e & fhdt et &l 30 fodi
FeRUT TR Shd THT TG AIET | 78 off Seoid hifsTy foh st sttafa=m, 2013 st gt 111
% 3TAR TS FHHA & efd geror & 7 w&i &l foh-fh J& fiuehi qen 3u-vive &
ST AT ST |

I T, TTe-31aTe ShuT T ST, YSTHTa S OTfel o) e festre | 4

Financial statements are prepared following the consistent accounting concepts,
principles, procedures and also the legal environment in which the business
organizations operate. These statements are the sources of information on the basis of
which conclusions are drawn about the profitability and financial position of a
company so that their users can easily understand and use them in their economic

decisions in a meaningful way.

From the above statement identify any two values that a company should observe
while preparing its financial statements. Also state under which major headings and
sub-headings the following items will be presented in the balance sheet of a company
as per Schedule III of the Companies Act 2013.

General Reserves, short term loans and advances, Capital work in progress and design.
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23.

67/1/1

31 9, 2016 i R.TH. e o1 fefa faeror e a9 o
AR Tw. fafwes &t 31 A, 2016 w1 Reafa faeror

P =ﬁ?: 31-3-2016 | 31-3-2015
9. 4 4
[ |EAT T SgaTt
(1)  3ferery fafemat
(a) 39T At 9,00,000 |  7,00,000
(b) Tu Ud I 1 2,50,000 |  1,00,000
(2)  Freet g
HeEAEiEieny) 2 4,50,000 | 3,50,000
(3) =] sEa
(a) TG 0T 3 1,50,000 75,000
(b) T W€ 4 2,00,000 | 1,25,000
T 19,50,000 | 13,50,000
II. ufamtaat
(1) 3=t et
(a) T gt
(i) W 5 14,65,000 | 9,15,000
(i) o 6 1,00,000 | 1,50,000
(b) 3= faeT 1,50,000 |  1,00,000
(2) o] UREEEr
(a) = T 40,000 70,000
(b) TP (T 7 1,22,000 72,000
(c) Ihg TqAT Uchg Jod 73,000 43,000
E] 19,50,000 | 13,50,000
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i A

=ﬁ;— o 31-3-2016 | 31-3-2015
¥, 4 4
1. | 9o ud onfye (3Mfyue w-g1iq foeror &
3I) 2,50,000 | 1,00,000
2,50,000 | 1,00,000
2. | SrHeheI ROT — 12% HOTaH 4,50,000 | 3,50,000
4,50,000 | 3,50,000
3. | TRt T — o sfafaery 1,50,000 75,000
1,50,000 75,000
4. | TIHCAR WL — TATTTT AT 2,00,000 | 1,25,000
2,00,000 | 1,25,000
5. | gt uimtoat
T 16,75,000 | 10,55,000
T e (2,10,000) | (1,40,000)
14,65,000 | 9,15,000
6. | o wEtEt
=M 1,00,000 | 1,50,000
1,00,000 | 1,50,000
7. | =i @rergEn
wih (Tt % ferT Ao 1,22,000 72,000
1,22,000 72,000
FAfaTRet g
(1) % 1,00,000, 12% o=t 1 F9T 31-3-2016 i {637 74T |
(2) o9 UH B SR R T 80,000 ot 7T S 0¥ whtra godgr T 40,000 o7
% 10,000 ' &1 9T S 7= |
ThE T8 TR0l TR HitST |
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Following is the Balance Sheet of R.S. Ltd as at 31% March, 2016 :
R.S. Ltd. Balance Sheet as at 31-3-2016

Particulars Note | 31-3-2016 | 31-3-2015
No. z z
L Equity and Liabilities
(1) Shareholder’s Funds
(a)  Share Capital 9,00,000 7,00,000
(b) Reserves and Surplus 1 2,50,000 1,00,000
(2) Non-current Liabilities
Long-term borrowings 2 4,50,000 3,50,000
(3) Current Liabilities
(a)  Short-term borrowings 3 1,50,000 75,000
(b)  Short-term provisions 4 2,00,000 1,25,000
Total 19,50,000 | 13,50,000
II.  Assets
(1) Non-current Assets
(a) Fixed Assets
(i) Tangible 5 14,65,000 9,15,000
(i) Intangible 6 1,00,000 1,50,000
(b) Non-current Investments 1,50,000 1,00,000
(2) Current Assets
(a) Current Investments 40,000 70,000
(b) Inventories 7 1,22,000 72,000
(c) Cash and Cash Equivalents 73,000 43,000
Total 19,50,000 | 13,50,000
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Notes to Accounts :

Note 31-3-2016 | 31-3-2015
Particulars
No. 4 3
1. | Reserves and Surplus (Surplus i.e. Balance
in the Statement of Profit and Loss) 2,50,000 1,00,000
2,50,000 | 1,00,000
2. | Long-term borrowings — 12% Debentures 4,50,000 | 3,50,000
4,50,000 | 3,50,000
3. | Short-term borrowings — Bank overdraft 1,50,000 75,000
1,50,000 75,000
4. | Short-term provisions — Proposed Dividend 2,00,000 1,25,000
2,00,000 | 1,25,000
5. | Tangible Assets
Machinery 16,75,000 | 10,55,000
Accumulated Depreciation (2,10,000) | (1,40,000)
14,65,000 | 9,15,000
6. | Intangible Assets
Goodwill 1,00,000 1,50,000
1,00,000 | 1,50,000
7. | Inventories
Stock in trade 1,22,000 72,000
1,22,000 72,000

Additional Information :

)]
2

% 1,00,000, 12% Debentures were issued on 31-3-2016.
During the year a piece of machinery costing ¥ 80,000, on which accumulated

depreciation was I 40,000, was sold at a loss of ¥ 10,000.
Prepare a Cash Flow Statement.
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18.

19.

20.

21.

22.

67/1/1

e - g
PART - B
faew - 11
Option - I1I

(e fer erais)

(Computerized Accounting)

3iTehel o1 TISH, UIHATT Ta STaNUT oeliel daiich & i | UgaRT |IwearR o el ] adiehl o

¥ FdRU |

Name any two software tools for organizing, processing and querying data in flexible

manner.

T A B A AT & ?

What is a ‘Database’ ?

T T A & 2 oot W GER B § R YR T ® 2

What is meant by a “Form” ? How ‘Split Form’ is different from ‘Simple Form’ ?

GFedaR o 3T YR H1 A9 T T GHENET ST SgSqanTeharan a2 fafm= I © thel g7
T AT TSAT ot STEeTeharat st gid i & |

Name and explain the type of software which meets the requirements of large business

organizations with multi-users and scattered locations.

TR IR HFEeaT o {ohal T’ el i HSE |

Explain any four advantages of computerized accounting software.
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o oo

fefeiad HIRATCT AT i SIERT led THAET -
(i) TR FBRAT

(ii) 5T (T

(iii) wifererT

(iv) fafe

Explain the following formatting tools with example :
(i)  Number formatting
(1) Currency

(i11)) Percentage

(iv) Dates
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